Smart Laser Mini /N\Y £ T 1) A N

HEHS slm-000
No. BmE & &%

1JACT S 7' & 12V/8A 1

2REX A= 1

3lusB—7 1

AARATYETE—2— NEMA17 3

5|laser cover 3D7) 2 MR 1

6|NAL>TF IR 1

718mmA/NF TE 1

8|RTF IrL 1

9/450mm V-slot FILZT7L—A 1
10{400mm V-slot TILZT7L—A 2
111380mm ZILX 7L —A ZZE 20mm A 2
122(IL—%—F>a31—)L ( 77> [1.6W 445nm 1
13|laser board EHiR 1
14|L—4-BEIXIL 1
15|controller A4988 21E X% & 1
14|Arduino mega EHix 1
17|pcb mount ToUINL 1
18|foot ToUL 4
19|mini v plate y-axis ToUN 2
20|idler pulley plate ToUNL 3
21|motor mount plate y-axis R |72 UJL 1
22|motor mount plate y-axisL |72 UJL 1
23|motor mount plate x-axis ToUL 1
24|mini v plate x-axis ToIL 1
25|laser support ToUIL 1
26| BAEAT V') ToUL 1
27\ REAT V)2 72U 1
28|Y-Motor-L 7—7')L 360mm 1
29|Y-Motor-R 7—7 )L 480mm 1
30[X-Motor 7—7')L 750mm 1
31|Y-Limit 7—7 )L 400mm 1
32|X-Limit 7—7)L770mm 1

Laser-OUT

33|Laser-FAN 7—7 )L 730mm 7 —7 )L 630 1
34|Power r—7 )l 130mm 1
35|Signal r—7' )L 90mm 1
36|JINY—KFa1—7 450mm 1
BTN ANAZIINF1—T 470mm 1




BIFER/INV R 25
X8l XA ZITXRI K GT2 1020mm 1
40|YE A =2 IOXRI) K GT2 940mm 2
MBERAZ T T—1)— GT2 2088 JufF : 5mm 3
42|mini v wheel TZ2AFYY 12
43 ETRTUT L-1050ZZ 24
44|mini v wheel AR —4 — RE 1440 F 12
454 5mm AR—H— @8mm JU£& : 5.3mm 3
46|72 OR/RFTI T F6052Z 6
474 A2 AR—H— M3 7
48|/ O R M3 7
49|M3x6 <A TIRIL b ATVLAH 1
50M3 T+ v k~ BANTY B 1
S1%R/N> REEE 1
52T 7Y b HBLSS5 6
53|mini v wheel v < ¥ — 8x5x1mm 45
54|M2.5x14 RATUFRIL k ATV L A#H 2
55|M2.5F v ~ ATV LA 2
56|M5 T+ v ~ AT Y K~ 40
57\IM57 v < v — 10%x5.3x1mm 70
58M5F-/0O>2F v K BHIEDHFTY N 20
59M5+ v K~ ATVLAH 4
60|M5x30 ANA AT RIL ~ ATVLA#H 16
61|M5x8 BTSRRI ATVLAH 8
62|M5x10 <A RI b ATVL AR 25
63|M5x15 A TUFRIL b ATV LA 4
64|M5x10 1KEER)L b 4
65\M37 Y v — ATVL AR 20
66|M37+ v ~ ATV LA 5
67M3RT U ITIvSv— |ATVLAH 5
68|M3x25 KA RI ~ ATV L A#H 2
69|M3x10 RANFRI ~ ATVLAH 2
70/M3x8 RAITYIRIL ~ ATVLAH 25

smartDIYs shop




